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Hessian

Equal mass planar three-body problem
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Slalom solutions
and figure-eight(5)
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Trace the solutions
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Pair creation/annihilation of S1 and S2

What is happing ?? near a = 0.9986

A scenario

a < 0.9986
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Pair annihilation
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A scenario

Behaviour of the action near S1 and S2

a < 0.9986

Pair annihilation

eigenvalue for a function

f2(t) = fa(t) = ) oo oo (SA2stmilar to this function
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Choreographic symmetry

(20(t) 1(#), a2(1)) = (a(), a(t +T/3), q(t = T/3)), q(t + T) = q(t)

Choreographic and
non-choreographic modes
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Hessian for
choreographic sin mode

First 6 eigenvalues of S1 & S2
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